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1. EEER DL
(1) 2 H U3

OEKRYUEERLE 1,500 2, 000 -500
EAMEZIFAE 1,500 2,000 -500

QFEEEERL 5, 000 6, 000 -1, 000
REEEZDFAE 5, 000 6, 000 -1, 000

OLIES-+ 550, 000 550, 000 0
EREXRRE 400, 000 400, 000 0
EDSEXRMEE 150, 000 150, 000 0

@FEZEINIE 32, 950, 000 31, 450, 000 1, 500, 000
N1 HEREE 21, 000, 000 22, 000, 000 -1, 000, 000
N2 PHEERZE 10, 700, 000 8, 200, 000 2,500, 000
T AEEE 1, 250, 000 1, 250, 000 0

OFmFHE 100, 000 1, 900, 000 -1, 800, 000
ERNZREFNE 100, 000 300, 000 =200, 000
ESNZREFNE 0 1, 600, 000 -1, 600, 000

©# IX 2 300 500 -200
ZHF R 300 500 -200

(B ET] 33, 606, 800 33, 908, 500 -301, 700

QOREEMR

OF= 34 33, 117, 200 34, 436, 000 -1, 318, 800
& H 15, 190, 000 16, 780, 000 -1, 590, 000
BYREE 607, 600 630, 000 =22, 400
EERNE 2, 205, 000 2, 353, 000 -148, 000
REHGATER 0 0 0
BIELE 30, 000 30, 000 0
] 6, 500, 000 7, 200, 000 =700, 000
I 2,100, 000 1, 700, 000 400, 000
=5 & 210, 000 150, 000 60, 000
BEXEE 748, 800 643, 000 105, 800
HERE 294, 000 150, 000 144, 000
&R DR & 672, 000 660, 000 12, 000
MENER 350, 000 350, 000 0
D 800, 000 1, 000, 000 =200, 000
S KK B 267, 300 280, 000 -12, 700
WAnERE 400, 000 350, 000 50, 000
HERE 1, 600, 000 1, 500, 000 100, 000
INFHH 784, 000 370, 000 414, 000
' B B 122, 500 120, 000 2, 500
& & 7 98, 000 50, 000 48, 000
M & 138, 000 120, 000 18, 000
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QERE 497, 800 755, 000 -257, 200
E g 30, 000 30, 000 0
=R 310, 000 520, 000 =210, 000
BYREE 12, 400 20, 000 -7, 600
EERNE 45, 000 72,000 -27, 000
REH A EA 0 0 0
EBRELE 0 0 0
BEXEE 31, 200 27, 000 4, 200
HERE 6, 000 5, 000 1,000
BERENRIE 28, 000 40, 000 -12, 000
JEROK K 2,700 15, 000 -12, 300
INFHH 16, 000 10, 000 6, 000
T B B 2,500 3, 000 -500
g & B 2,000 2,000 0
#® E 12, 000 11, 000 1,000
(BEEME] 33, 615, 000 35, 191, 000 -1, 576, 000
(EEE - a -8, 200 -1, 282, 500 1,274, 300
2. EEIMERDE
(1) #EHIMN
(REH MR ET]
(2) BENER
(BESNEAG]
(LR FEIMEREE]
(b= EHREER]
(24 23— AR IE R B PE 12 R ER ] -8, 200 -1, 282, 500 1,274, 300
(—RERMEHERS] 33,511, 912 34,794, 412 -1, 282, 500
(—RERMEHRES] 33, 503, 712 33,511, 912 -8, 200
1T &5 %8 IE BR B EESE R D BT
(24 5445 %€ 1E BR B EE 1R ER ] 0 0
(BEEERMEHREES] 0 0
(HEEERMERRES] 0 0
MIEREERAR LS 33, 503, 712 33,511, 912 -8, 200




